Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 / Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200616038C GST Registration No.: 200616038C

NITHIANATHAN S/O SIGAMANI BLK 49 STRATHMORE AVE #11-215 SINGAPORE 140049

Contact: 96926247

T? Allianz. Fzlyna

#### TAX INVOICE

Repair Code: CLM17725

Date in: 29/04/2023

Vehicle Num.: SLK4632A

Model: TOYOTA COROLLA AXIO 1.5X CVT ABS D/AIRBAG 2WD

Chassis/Eng#: NRE1610012106/2NR8538161

### Parts and Labour Assesment

Description of part	Qty	Unit Price	Amount
REAR BOOTLID Deutle	1	919.00	919.00
REAR BOOTLID 'AXIO' EMBLEM	1	78.40	78.40
REAR BOOTLID 'COROLLA' EMBLEM LA	1	96.80	96.80
REAR BOOTLID 'LOGO' EMBLEM	1	72.20	72.20
REAR BOOTLID HINGES L/R	2	87.40	174.80
REAR BOOTLID INNER RUBBER STOPPER L/R	2	30.20	60.40
REAR BOOTLID INNER TRIM BOARD M	1	687.50	687.50
REAR BOOTLID LOCK STRIKER MG L	1	37.50	37.50
REAR BOOTLID MECHANISM LOCK	1	108.00	108.00
REAR BOOTLID NUMBER PLATE LAMP L/R	2	98.90	197.80
REAR BOOTLID OUTER CHROME HANDLE	1	314.00	314.00
REAR BUMPER Deled	1	544.50	544.50
REAR BUMPER END SEAL COVER L/R 2H Delad	2	98.00	98 196.00
REAR BUMPER REFLECTOR L/R Culd	2	68.70	137.40
REAR BUMPER SIDE RETAINER L/R	2	108.70	217.40
REAR END PANEL Deted	1	755.10	602- 755.10
REAR END PANEL BRACKET L/R	2	107.00	214.00
REAR END PANEL INNER TOP GARNISH	1	249.70	249.70

# MA-O L MOTORNOTIAE LIE FID

Koki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 / Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200616038C GST Registration No.: 200616038C

NITHIANATHAN S/O SIGAMANI BLK 49 STRATHMORE AVE #11-215 SINGAPORE 140049

Contact: 96926247

### TAX INVOICE

Repair Code: CLM17725

Date in: 29/04/2023

Vehicle Num.: SLK4632A

Model: TOYOTA COROLLA AXIO 1.5X CVT ABS D/AIRBAG 2WD

Chassis/Eng#: NRE1610012106/2NR8538161

REAR EXHAUST GASKET 7	1	37.40	¥ 37.40
REAR EXHAUST RUBBER MOUNTING	2	48.60	£ 97.20
REAR EXHAUST SILENCER BOX	1	987.10	\$ 987.10
REAR FENDER INNER AIR VENT L/R	2	71.40	71. \$ 942.80
REAR FENDER INNER TRIM BOARD L/R +oin	2	357.00	714.00
REAR FENDER L/R RH Buch	2	1120.90	1120 32241.80
REAR FLOOR PANEL Buckerd	1	755.10	755.10
REAR FLOOR PANEL SPONGE TRAY	1	378.70	378.70
REAR FLOOR PANEL TOP BOARD COVER 201	1	436.90	390 436.90
REAR LH FENDER PETROL LID RIVET	2	12.00	+ 24.00
REAR TAILLAMP INNER BLACK GASKET L/R	2	48.70	50(50) 97.40
REAR TAILLAMP INNER PANEL L/R TH Pertid	2	126.10	252.20
REAR TAILLAMP L/R	2	613.70	0 36 1,227.40
REAR TAILLAMP LOWER BRACKET L/R	2	65.60	131.20
REAR WINDSCREEN MOULDING ***	1	92.70	92.70

# MIN-O I MOTOINIOTIVE LIE FID

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 / Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200616038C GST Registration No.: 200616038C

NITHIANATHAN S/O SIGAMANI BLK 49 STRATHMORE AVE #11-215 SINGAPORE 140049

Contact: 96926247

#### **TAX INVOICE**

Repair Code: CLM17725

Date in: 29/04/2023

Vehicle Num.: SLK4632A

Model: TOYOTA COROLLA AXIO 1.5X CVT ABS D/AIRBAG 2WD

Chassis/Eng#: NRE1610012106/2NR8538161

	Subtotal before discount	8547.50	12,676.40
Percentage discount 25%		6810.62 -	3,169.10
	Sub-total 1	6 x10.6 L	9,507.30
REAR BOOTLID CAMERA	1	800.00	<b>₹</b> 800.00
REAR BOOTLID INNER TRIM BOARD CLIPS - SET	1	40.00	40.00
REAR BOOTLID NUMBER PLATE	1	25.00	25.00
REAR BOOTLID NUMBER PLATE HOLDER	1	50.00	50.00
REAR BOOTLID OUTER CHROME HANDLE CLIPS - SET	1	40.00	20 49.00
REAR BUMPER CLIPS - SET	1	80.00	30 80.00
REAR BUMPER REVERSE SENSOR - SET	1	280.00	2w 280.00
REAR END PANEL INNER TOP GARNISH CLIPS - SET M	630 1	40.00	2 3 40.00
REAR FENDER INNER TRIM BOARD CLIPS L/R - SET	2	50.00	60.100.00
REAR FLOOR PANEL INSULATOR MAT	1	300.00	2~ 300.00
REAR TAILLAMP CLIPS L/R - SET	2	25.00	40. 50.00
REAR WINDSCREEN SEAL XL	1	80.00	60' 80.00
	Subtotal before discount	_	1,885.00
Percentage discount 0%			0.00
	Sub-total 2	_	1,885.00
	Parts-total		11,392.30

## MIN-O I MOTOINIOTIVE FIE FID

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 / Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No.: +65 6842 0051 Fax No.: +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200616038C GST Registration No.: 200616038C

NITHIANATHAN S/O SIGAMANI BLK 49 STRATHMORE AVE #11-215 SINGAPORE 140049

Contact: 96926247

### TAX INVOICE

Repair Code: CLM17725

Date in: 29/04/2023

Vehicle Num.: SLK4632A

Model: TOYOTA COROLLA AXIO 1.5X CVT ABS D/AIRBAG 2WD

Chassis/Eng#: NRE1610012106/2NR8538161

LABOUR	
To remove, reinstall electrical wiring harness, check lighting, and rewire for parking sensor.	80.00
to remove,reinstall windscreen (REAR)	170.150.00
To remove, reinstall petrol tank. (to FR)	<b>&gt;</b> . 80.00
To remove, reinstall roof top trim upholstery, cushion seat, trim garnish, trim liner carpet. (to FR)	63 100,00
To re-spray painting on the rear bootlid, rear end panel, rear fender (L/R), spare tyre panel and rear bumper.	1200 1,500.00
To remove and change exhaust silencer box with pipe, re-align where necessary consistent to the accident.	× 100.00
To provide labour, workmanship to change the above damaged bodyparts, repair, re-construct and realign body structure, body alignments and damaged consistent to the accident.	16032,200.00
To apply anti-rust chemical on repaired and replaced panel.	140.00
To transfer rear bootlid mechanism lock outer handle reflector	63 80,00
Labour Total	4,430.00
Parts & Labour Total	15,822.30
	Adoin L

\*\*\* This is a computer-generated document which requires no signature.\*\*\*

LKK Auto Consultants hence notify the Repairer of the following:

- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer Signature: